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» A BEAKE S WERF R,
- BEEAAR KRR, —E R Mto, LR BILHH oy

RiFEER 8 NiE, B fm, start withpPfeeoos HFs
to start with (FHAIB) B, B,

» BESHSE, RREFTUME, GBS, i%i@

AULER, Bl
1.end(up)with Blecoses )
end with=end up with
2.make a choice(among)Pkik, k%
" What influenced you when you made your
choice? )
It is difficult to make a choice among so

many,

REFERAbe &AM S LM RBER 4 W i 13

W, ReFEbeB T RAANE, Hm—EES, Mm

(be)compared to [F]essres AR, Lo H

(be)co_ntent with  Dleeehili R, BRETF
TS A A RR T UARRBEBE S WA, AmE
MARR B —FKiAH, Bim

go(comelinto operation A3, FFiRiEs

go into operation=come into operation

REFARARERBHARERE, WEZTLHR7
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JEmto(+inf,)s AREARFAEERHAILHE, WE
ZAMARFEREM(+ing) FH, Hln

enough to(+inf,) R (BD

take steps to(+inf,) REUEM, &%

take to(+ing) FFEAME

think of(+ing) M () , £H

B, FPHRREEMNREEHNE AL, BRRT—

LB R YA BAORIBIL HHY, Blin

It appears that (FRMLIF);unless otherwise

stated (BRIEBHE) F%,
XEBRRBFEBEEAE, HERTEFHY FERHK,
BT BE— AR ok LB P L 3 i 2,
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abbreviate as(to) Joeeoes BEY

We abbreviate the words f‘Uﬁited States” as

“U.S.”. R “United States” HENH
“U.S." |

An electromotive force is commonly abbreviated

to EMF, a3 8@ %45 WEMF,

(be)abbreviated from RIS
A,C, is abbreviated from alternating curreat,
ACRRMABMES, ‘
IF is abbreviated from intermediate frequency,
IF o 5 -
abide by MLy BE

We abide by it and proceed with -the
derivation, BATLAM H th K RURETHES.
a bit ' >, —&
If the ball had hit the window a bit harder,
it would have broken it, W RBRFHE KL
W% HPRATTRT.
In this book you will learn the language of
chemistry and find that it is not a bit
' mysterious, but simple and interesting to
use, ZEERF, HESEIMLFNES I HEE
B, E—AGuAHN, WEEHEXNEES.
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a bit of — i, DPRE
There is a bit of history in connection with
these experiments, % FX &R, A— PEHA

LN . ,

We had a bit of trouble to get the car started..

EHHERRNA T —LF, o

(be) able to - e, &, B

A computer must deal with signs, and be able

" o compute with negative and with positive

aumbers, HHBLBARLBLMNAS, FAEMR
HHEERMAL.

If there is no conducfor connecting the two
bodies, of course, there will be no path for
the electrons, and they will not be able to
flow, %R, WRBELBEHADEGSE B4
RALE R FRYER, @.?&ﬁxﬁfﬁﬁﬁﬁh

a body of ’ —3, —#, K&t
The oceans are large bodies of water WBHEREKE
WK

When these vast bodies of air come together from
widely separated regions, their contrasting
characteristics produce changes in weather,
wxwE K SEAMNRERTNHEE 43— -
BB, TAVESLX LA KRR T LI A SRR
o :

abound in(with3 BT, A%
This country used to abound with snakes, XAMHEHZK



AEHREE,
The park abounds in wild animals, XAAREEH

ZHEHY,
(be) about to (+inf,) IEE, g
We were about to start, when it rained, RAIE
EHE, XTHT, .
above all BE AHRE, BEENE

We must work,and above all we must believe in
ourselves, RFILALIE, REERMLFMEE
RNBC,

Access to cockpits was wusually improved and,

above all, the view of the pilot became more

extensive, BEERE, BEADXHE, #F T

BRI EBE )R T,
(be)absent from RE], A, B
He was absent from the meeting, 1&5!&.‘_{3,}#;2(5(%
o . '
You should not be absent from class, RN 2LH"
"o
a bundle of —, —®, —f

The books were tieﬁ up in bundles of twenty 3B
ERRFRET EK, BR-TE, |
acceptable to GIE::54x0

The text is supported by attractive illustrations
and is written in a style acceptable to a
wide range of pupils, ﬁiﬁﬁﬁﬁ%ﬁ% i
A, FERBSKPAPEEFRBEZN SRR TN

3,



accept as . 7 BN R Reeeeerry FAHE

The unit commonly employed for scientific use
and accepted as an international standard is
the meter, XEM¥ EERMEAEL, FHHPHAX
f X —FERRE,

The conductivity of copper wire is accepted as

(being) the standard for all measurement of

conductivity, {HPRM P REGIAEENY & —

15 f R A BR A
(be) accessible to Syeeer BEILBIH
The road is accessible to traffic, BT LIEZE.,
access to | ik, Tk
" Students need easy access to books, A BE AL
BEBHITE,

v The only access ta that laboratory is along that
riuddy track, RAEERFRITH PEA GBS

. BBAERE,
(be) accompanied by ' A, WE
Each pupil’s book is accompanied by two
workbooks, #Fi 24 BER A P A RBI S .
according as KRR, RpeT

They move into the next class, according as
they pass or fail the examination, MR
KRB, kAT

Beams of light are classified as diverging,

parallel or converging according as the rays

1



constituting the beam are diverging, parallel
or converging, MHMHBME R E KB, T
BRESEMSBREBIER . PR EMSEN
according to BiE, R
The metal will expand or constréct according to
whether the temperature rises or falls, 83§
BEW ARSI, SRS HREWEE.
Accord:ng to the kinetic theory,the molecules of
llquld are in constant motlon HBiEzzsh A
it WS TRABESN,
account for Pl B O
No comﬁletely satisfac{ory t‘héofy to account for
~ the earth’s magnetism‘has yet been evolved,
4 A1k, BEAH M4SN R R IR
jeiE:ili
However, impact pressure ‘rarely accounts for
more than 30 percent of the total lift, &1,
W EN N BER D BEBF 30K, |
(be)accurate to Bt kil
The dimensions(length,diameter,width,etc,)must
be accurote to within certain limits, R~} (§
B, B, RES NE—EREBEEEN.

\ (be) accustomed to JAMFE, 8%
He is accustomed to do experiments, I T E
B,

We are accustomed to calculating in a “denary”

'5 .



or decimal system,probably because we have
ten fingers, RAISIMTM+REKHH B KX
BERE N RIVA T FHRHE
accustom oneself to ffieeee SR F
Animals in this area have accustomed themselves
to cold weather, XANHIRMFIYCEN T RY
| =, |
a couple of WA —xs (BHED LA
A couple of seashells and two open cans serve
as the equipment for this experiment, —3%}
N FZRBHAE TR UBEX— LR R,
(be)acquainted with BEK, AR
Getting acquainted with the methods of making
measurements is necessary to our experimental
work, WM EXRAY ZR T ARV LY H
. |
An instrument instruction book is intended to
be of practical utility to the instrument
ope’rator, who is not necessarily well
acquainted with the particular instrument, {%
=B DR, ERESAE RN
v W, BIEEMAELRER,
act as e, e tER
The firebricks act as insulators to prevent heat
radiation, W kKRN AGANRE LREHN.
The governor acts as a method of controlling the

engine speed, WIS B RIIEE K



i3z
act (up) on B Foorreee By Nfoeeee AEH

By gravitation the sun and the planets act and
react upon one another, HFFIIMEM, K
T REZHAEREERNEER.

The simplest condition of equilibrium is that in
which a body is acted upon by only two
forces, BB AN TFREARREFHASIERT—
Witk ko

adapt to : e BRT

The stainless steels are well adapted to
resistance welding because of unusually high
resistance, FHEMH TRAERERWHEYT, U
R4 TR,

Not only can the electrodynamic mechanism be
adapted io the measurement of current and
voltage, but also to the measurement of
power, XFpEBIIPLHEEKIE, RN NEHTHE
BEARE: mEMERTRHRYE,

add to Wm, WME, 4%

We have seen that when all forces acting on a
body add to zero, there is no resultant and
the body is in equilibrium, Now we are to
study what happens if the forces acting do
not add to zero, RIIECEAR, WREAHE B
F—Yky IRMETE, RALEAIRE, W
U BERAETIERS. RERIRHR—THR
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BERIMNASTEN S HAMAER,
add-to | L e
If 80 calories of heat are then added fol gram
of the water, it will be heated to 80°C, or
176°F, WHETE 1 5K PMAS-E B B R E, W
KRB MPBRKS0E, BIEK1765,
The heat change is directly proportional to the
" work added to or taken from the gas, #&

AR5 3 AR By B AR SR SR IE L

addition of«-to REEEED 121 R k=,
| ‘ T:Ecn.-{_tiém oooooo
On the other hand, elements can also be

changed by the eddition of more protons fo
. their nuclei, XH—J7H, LEBTUBEILEES
HR FmBEE T Em kA2,

When the temperature of a gas is changed by
the addition of heat fo it, both its pressure
and its volume can be changed, X{RHEE
BT AE by, HERAARET L E £ B

’ 'f‘to .
add up BE MR, &
The numbers Wouldn t add up, X EMER 5

BEAR.

Add up these fxgures and see if the sum {is

correct, XU EMER, BEEYNARXY,
add up to Biths &TFH
All this adds up to a new concept of the

3



universe, X—VIBHREXNFHNIEE.

adequate for B, &&TF, &%
That amount will be adequate ‘for our needs, %
BB R LIWERNKG B,

We took adequate food for the short inspection,

BRI XEHERFRTEANRD.
adhere to , IR, ESE; REHEE e B
If you adhere to the route on the map, you
won’t get lost, MMRREIEHE LHBEEE,
- BRAR& %K. ‘ :
Mucilage will make that picture adhere to the
paper, BUKE&ME AR L.

(be)adjacent to FiE, L dBHE
The garage is adjacent to the laboratory, &
REZREFY,

Through the wall of the flame tube body,
adjacent to the conibustion zone, are a
selected number of holes, ZEM/~ K IGEEE | Fr

BEN I, BREMER.
adjust(-+)to e WWE (D BR
In other .WOIdS, we must adjust .the set to the
frequency on which the station is operating,
BAER, RMNLFBKRFNRTIIREEE#
MR o ‘

So the animal can adjust faster to changes in
its surroundings or in itself, E, X#shy
REEE Pt 3E B H R B S A & i) — A,



